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C1
Section - A (BIOLOGY : BOTANY)

101. The regions with high level of species richness, high

degree of endemism and a loss of 70% of the species
and habitat are identified as :

(1)  Natural Reserves
@
o)

(4)  Biogeographical Regions

Sacred Groves

Biodiversity Hotspots

102.  Which of the following simple tissues are commonly

found in the fruit walls of IWr ?

(1)  Sclereids (2) Fibres
3) Parenchyma 4) Collenchyma

103. Inachromosome, thereisa specxflc DNA sequence,

responsible for initiating replication.. It is called
as:

@
®)

cloning site

@
@

recognition sequence
restriction site ori site
104. Givenbelow are two statements :

Statement I: When many alleles of a single gene /r
govern a character, itis called polygenic inheritance:

Statement I1: In Polygenic inheritance, the effect of
each allele is additive.

In the light of the above statements, choose the correct
answer from the options given below.

(1)  StatementIis true but Statement Il is false
()  StatementIis false but Statement I1is true
(-3L' Both Statement I and Statement Il are true .
(4)  Both Statement I and Statement Il are false

105. Which of the following are required for the light
reaction of Photosynthesis ?

A CO, V7 B. o, ¥

c HO vV D.  Chlorophyll V™

E.  Light v

g\lgi)j(:e the correct answer from the options given
\-@(f A,C,D and E only

2) C DandEonly

(3 AandBonly R

(@ A, CandEonly A4
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s tch List-T with List-IE
106, FE-15 get-11 & Ao HIr 106. Mt List-11 411
R | -ﬁgﬂ_ll A Fleming 1 I?isc shaped sacs ¢,
A S { ST 3 ¥ g cisternae near ce]]
A i Robert IL g;lcrf;satin
ﬁ :F‘ﬁ B. ober -
. ; Brown
B qedwsd L smrRd .1 ¢ George Ribosomes
SeitaE m T : Palade
D, ¥fe w 8 D. (G;;:)[l;i.]]o 1v. Nucleus
Sl : Choose the correct answer from the options oj
1S P given
ﬁ@@mﬁﬁaﬁﬁiﬁﬁq: I below:
(1) AILBIV,CIL DI 1y AJLBIV,CILDI
@) AILBILCLDIV » ALBICLDIV 112
@) ALBILCILDIV @ ALBILCIL DIV
(4) A'IVI BH/ C‘HI, D'I (4) A'IV/ B‘IL C‘HI/ D—I
107. @—Iﬁg\ﬁt—n@g&%ﬁﬁfm: 107. Match List-I with List-IL:
-1 -1 List-I List-IT 117
dfw S DptolieRe e
A el genfer " TE e Jorahae in(;? un%raﬁups ¢
B. e yuifad I TeEE AT B. Co-dominance . Flower 5\
C  wgwefa o e e colour in
o o o g 1 N Antirrhinum 11
74 fed e 8wl S L SRy . Skineolgik
$ 1n hum
(1) AL BV, CIIL, D-I Sy D Polygenic IV. Phen njnt i
g AL, B, CIV, DI inheritance ylketonuma
A-IL B, C-1, D-IV =17 Choose the ¢ . a
@  AIV,BLCIILDI below : orrect answer{xom the options given 2
. 1)  AJILB-
108. <ISTUE % B W WA e ) ( ,BIV, C-IL D
Bt T w1 R (i{' A, B, @IV, DI
@ @ (3) AJILBILCI DIV
@ TR @  AJIV,BILCIILD
@) disterH . A
4) i 108. Which part of the ovul r
109. Freafafed 3 & %, fowired (eqisidr) § materials ? ule stores reserve oo |
&I e ST ? ) H &) Nucellus
‘T @) I
(1) e i ; () Placenta SEgument
a @ Wﬁm 09. Which G Tanle
afefent . il ich one of th R
110, Frefafes 3 & &9 o, e < ?ymn"sperms? e following is not found " |
: Toh TR W ¥ ajt - 1)  Sievecells
87 o f,i‘t § ®)  Tracheids z;/ Albuminous cells |
(1) T SE AR b 10, Sihich o db i Vessels
() . e S N it _ConseIVat?oi)gowmg is not included und®
@) Seee e i Q. Wikiesancrary
(4) @q 'CITE% : (3) glo(::nlhcal gar den
@ Natip .
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faasizar :
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T

@) RSrmEE gFidizE, i, afeteq
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ﬁwﬁﬁ%amfdﬁ@%.

HYF I : THfEEE f R T T aIieris SqaeH &

B o @ yhwe 1 S H § wEm g R |
HUT I : T Y T, agé@ﬂ%mma;ﬁq
‘Rho’ SR % 1Y STeTedrl €9 H S 8 | - P

111.

122;

113.

IwjaR el o wa B e e forehedl H 9 G

g : b
(1) WITATTIHRMMTTAT
@) wEISEAERIFALTAY .
@) USRI S T § J
@ YA AR BT A A § e |
frfafea & @ i1 T JfReRs ¢ 2

(1) FREm (2 e s
@) A @ TEEEE

(1)  Epidermal layer
'(i)_ Exine layer (4)  Intinelayer
Identify the incorrect pair :
Sphenopsida - Adiantum
(2) Pteropsida - Dryopteris
(3)  Psilopsida - Psilotum ~~
(4) . Lycopsida - Selaginella Vv~
114. Which of the following is the correct match?
-{T)/ Gymnosperms : Ced_r/*us, Pinus, Sequoig
(2) Angiosperms : Wolffia, > Eucalyptus,
: , Sequoia
(3)  Bryophytes Polytrichum,
Polysiphonia, Sphagnum
(4)  Pteridophytes i~ -Equiseturm, Ginkgo,
Adiantum

115.

116.

C1

Given below are twoStatements :
Statement I : The Indian Government has set up
GEAC, which will make decisions regarding the
validity of GM research. “~~

Statement I1 : Biopiracy is the term used to refer to
the use of bio-resources by native people.

In the light of the above statements, choose the correct
answer from the options given below :

'('1’)/ Statement I is true but Statement Il is false
(2)  Statement I is false but Statement I1is true
(3)  Both Statement I and Statement Il are true
4) Both Statement I and Statement II are false

Pollen grains remain preserved as fossils due to the

presence of :

(2) Tapetum

Given below aretwo statements regarding RNA
polymerase in prokaryotes.

Statement I : In prokaryotes, RNA polymerase is
capable of catalysing the process of elongation

during transcription.
Statement I1: RNA polymerase associate transiently
with “Rho’ factor to initiate transcription.

In the light of the above statements, choose the correct
answer from the options given below :

¥y~ Statementlis true but Statement I1 is false
(2)  Statement I is false but Statement Il is true
(3)  Both Statement I and Statement ITare true \
(4)  Both Statement I and Statement I are false

Which of the following is a nucleotide ?
mm acid ‘,_‘*

(1) Uridine
()  Guanine (4) Guanosine
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V0 El-11 e Ffor ¢ 117. Match List-1 withZ3* List-II 421- =
ist-1
-1 gei-11 Lt [ Brinjal
A —éwra A. Vexillary A
- RS EUE| aestivation , .
o B.  Epipetalous ’ B.
- ens -
AR L 3T s o Pea
. . c.  Epiphyllot
C TREAeH W’{ m HX stamens o Lil G
. i ~
D.  uftSmit g v, faedft D.  Perigynous y
flower _
TEEtaalia Sl of F@ L ﬂﬁq : Choose the correct answer from the options given D
(1)  AI,BJ,CIV,D-I below :
2) AL BIV,CL DI @ ALBLCIY, D-II '
(@)  AJILBILCLDIV @ AJILBIV, C1,D-I =‘
@)  ALBLCIV, DI @ AILBILCLDIV ((
-1, B-1, G-IV, D-1I
118, -1 gER-11 & fem AT : @ A (‘
-1 - 118. Match List-I with List-I1:
A SRAAS [ O e List-I List-IT az2.
B. W oL el A.  Chinarose L.  Freecentral \ ;
c. s m s B. - Mustard . Basal
D, v R - G Primrose M Axile ]
e frsedt § Wl SR 9T «.'D.  Marigold IV.  Parietal (
(1).\ AV, BII,CIL D g:;gals.e the correct answer from the options given
@ A, BIILCIV,DI
(1)  AIV,BICI, DI
(3) A-IB-IV,CI,D-IT “
@  AJILBIV,CI,DI /(@ ALBILCIV M
@ AJILBIV,CL DI
119. Trfafed 9 ¥ wF, T afawed 4 <@ fave &t (4 A, B-IV,C-II,D-I
T & ¥ ?
(1) T R 1D ;’)\ile‘;zh of the Cif)llowing helps in maintenance of the p2o-
) ure gradient in sieve tubes ?
(2 = PR a : ve tubes ?
% ) Albuminous cells
(2)  Sieve cells
4 TER HIH ;
@ ot )  Phloem parenchyma
120. T ifrer F Hisie 5 87 &Y O Companion cells
1) faeeicr ; 5120, A
) gfeeh Heem l Mesosonlelnacellisa;
(2 % THd mRNA o AN
ikl ¥ 8 7 e 7 5 @) hembrane bound vesicular structure
;a chain of many ri ' 5
®) . S et e e oty e g e mRNA. D TPosomes attached toasing
AT |5
. e _
| @ A IR };eqal Structure formed 1 on of TN
| : Plasma membrane Yy extension
4) :

medium «;
Um sizeq d‘romo‘some.
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A wRfEFsE 1 ERA R
IR LT ¥

B.  uffer L S ) gk
el H werr
E2GIE

c foeRfaw I el & oo A
TR &

D. WEERA IV.  gehey, Tt
anfe & shifedn a0
ECEIEGIE

A & 7 fomredi § @ W@ s

(1)  A-ILB-I,CIV, D
@)  A-ILB-I,CL, DIV
(®)  A-LB-LCIV,DII
(4  A-I,B-IC-III, DIV

122. G-I GEt-11 § GAferd Ao :

-1 G-I
A STEfema: ffdg 1 9 fafean
TS S
B. S WH &I L g &l

C.  uwE T T . UdsH dErer

REERe HE T

D. TTAARTIT Iv. 3fgerg gRiSafea

o & 7 el H @ W W g
(1)  A-ILBI,CIV,DI
@  AJIBLCIV,DI
(3  AJIV,BILCLDI
@  AJLBIV,CL DI

123. G-I geh-11 & GAfera e «

g1 11

A EIS®imeEEl L NADH

B, ETSHEREEI 1L  WEEHMEbC
C EISHmREEIl [0 WM C

CIENIES
D EIS®HMOsEIV IV, WHdfe

SrRTEgISIS
3 fed T faehedl # @ W SR gAY :

(1)  AJV,BL,CILD-I
@  AJLBIV,CI, DI
@) AJILBLCIV, DI
4  ALBI,CIV,DI

25

a9

121, Match List-I with List-] -
List-I List-I1
A. Abscisic I Promotes
acid female -
flowers in
cucumber
B. Ethylene 1L Helps seeds to
: withstand

List-I List-1I
A.  Genetically L  Gene therapy
engineered Human
Insulin
__+.B. GM Cotton. . E.coli
£, C. ADADeficiency I Antigen-
antibody
) interaction
D. ELISA . IV. Bacillus
= thuringiensis

=" Choose the correct answer from the options given

desiccation
Lt Gibberellin 1. Helps in nutrient
mobilisation -
D.  Cytokinin IV.  Promotes bolting _~
' in beet, cabbage etc.

Choose the correct answer from the options given
below :

(1) AL B-IILCIV, DI
(2)  AJILB-I,CI, DIV
Gy AL B CIV, DI
(4 AL B, CII, DIV

122.  Match List-Iwith List-II :

below :

1) A BILCIV, D1
2 A-LB-LCIV,DIO
(3)  A-IV,B-IIC,D-II
@' ALBIV,C,D-I0

123. Match List-I with List-11:

List-I List-II
A. ETSComplexI L NADH
Dehydrogenase

B.  ETSComplexIl . IL Cytochrome bC,
C. ETSComplexIll 1. Cytochrome

Coxidase
D. ETSComplexIV 1v. Succinate
Dehydrogenase
Choose th i
o € correct answer from the options given
1) A-IV,B, CIL, D
A'I/ B"IV ’ C‘H, D-m

() AI,BY,Cav, py
@ ALBICIv g
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(1) WWWW

@) ﬁaﬁi\aw@wﬁmw

©) e <iifer sive e feorf 8 w9 W
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@) o e

A SR YE, s gl S HEfTh
TR 3 C — C ) B A ) _
B, i v it weqel e wRER g A

GRS

C sigha o g aIe i SFE TR % SR
fopvar B ©

D. e AR o e Bl WY, S
¥ YR Y Suerean T Freft A ¥

E Yo HERA O, T Sl SR g8k SToefe
B Y vt o Fmior g @

T e T feedl § A W@ IR

(1) Fa@A,CDE - (@ FIAABE

(3) e A,B,CELE) H9W@B,CD,E

126. 9 2w o3 W

YA | THAAE (T Fshl) § Fgep | A
SR A U Qg sl & T1el RIRRT 31K T T aiferdist
B ¥

HY 11 ; FHIEeF F2F § 99 N a9 a9
¥R T T et st yfiest f-fae 2t %
o el & Wl H A el foreedl § Yu@r s
i1 :

(1) eI H & HY HT I ST0A S
(2) U] A R WY T 1T §
@) WIS w3 g §
@  wHI SR wI 1R s ¥
127, =11 elt-11 3 ifer #ifrg
eI elt-11
A fem L o e
S i e S
C TEifm I #Frewes el e
EiCiEd
D. ¥ MBS
ferver <
‘ﬁ%ﬁﬁﬂﬁﬁﬂ?ﬁﬁ@‘ﬂﬁﬁ?iﬁq: K
() AV, BN, CII, DI
@ AdLBYLCAV, D1 |
(®)  AILBIL,CV D
@  ALBIV,C1 Dy
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127,

124. Cryopresorv

125.

]Huv,‘ F

ation technigue is used for :
Protection ofenviron lﬂf!nt. t
protection of Biodiversity hotspots.

1)

% Preservation of gametes in viable and foyy;,
\W condition for along penod.
4) In-situ conservation.

Which of the following are correct about cellyf,,
hicn

s . 2 )
resplra(tjleo]l;u-lar respiration is the breaking of C — ¢

A. ponds of complex organic molecules p,
xidation. o ) .

=B ’(;he entire cellular respiration takes place ip,
' itochondria. ‘

C Il\rilrmentation takes place under anaerobijc

condition in germinating seeds: |
D.  Thefateof pyruvate formed dlfrmg glycalysis
. depends.on the type of organism also.
E Water is formed during respirationasa result

of O, accepﬁn&g[ecﬁons,and.geing reducedsyy 172

<

Choose the correct answer from the options given
below :

A,C,D,Eonly
A, B,C,Eonly

A, B, Eonly
B,C,D,Eonly

@

?3) )

_Given below are two statements :

-Statement-J; In eukaryotes there are three RNA

- _ polymerases in the nucleus in addition to the RNA
~ polymierase found in the organelles.
=Gtatement II : All the three RNA polymerases in

-eukaryotic nucleus have different roles.
.In the light of the above statements, choose the correct

“~answer from the options given below:

(1)  Statement I is correct but:Statement II is
incorrect

(2)  Statement I is incorrect but Statement II is
correct

(3‘)/ Both Statement I and Statement II are correct
(4  Both Statement I and Statement II are

incorrect
Match List-I with List-II :
List-I List-IT
Histones L Loosely packed
& chromatin
ucleosome I Densely packed
; chromatin
Euchromatin I Positively
charged
basic i
Heterochromatin PR
V. DNA Wrapped
around histone
Choose the corr RSl
ect answ
below . er from the options given
(;) A1V, B-II, c. DI
Esg ﬁ"m/ B‘L C*IV, ’D-H
& am VD1

128

(=Y
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131.

gEr-1 -1
A T e L Cporgs o o forg
TR (Fiferer) i

qa e

B, SumeAdEEN IL TR g TORA

oA e 4 T g

TG W < SR
ST ST §

o Comfig R I U forg, TORA % A
J o TEH AR
Yo e SHT ST
I T H A ©

D, sierAToRE IV, O o g T
foregrat o W firerd &
ford T ST T B
SR e ST g I Bl
¥

g firdy T Fereredll B @ E@ ST :

1) AJBICIV,DII ~

@  AV,BCI, DL

(@) AJBI,CII DIV

@)  A-I,BIIN,CIV,D-I
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¥4, Both Statement I and Statement I are false

Recombination betw

g™

G |

{one® %ﬁgg,&'

Given below are two statements :

Statement 1 : Failure of segregation of chromatids -
during cell cycle resulting in the gain or loss.of wholg ¥
S&t_OfChﬁy)m( in an oxgamsm is known as ~ >
aneuploidy. -

Statement I1 : Failure of cytokmesxs after anaphase

stage of cell division results in the gam orlossofa . '
(hlomosonu is called polypl(ndy '}(

= Inthe ll},ht of the above statements, choose the correct

answer from the options given below :

(1) Statement I is true but Statement I1 is false
Statement I is false but Statement Il is true
Both Statement I and Statement Il are true

een homologous chromosomes
is completed by the end of : ) ‘

(1)  Diakinesis

(2)  Zygotene

(@)  Diplotene
Pachytene

Match List-I with List-11:

List-I List-IT
Metacentric I.  Chromosomehasa
chromosome terminal centromere
Sub- I. Middle centromere
metacentric forming two equal
chromosomeé arms of

: chromosome
C.  Acrocentric . Centromereis,
chromosome slﬂxtlyi/_a_lv’ax_frqm
the middle of
chromosome*
resulting into two
unequal arms
D. Telocentric IV, Centromere is
chromosome situated close to its
end forming one
extremely short and
one very long arm

Choose the correct answer from the options given

below:

(1) AILB C1v,D-II

@ AIV,BLC, D-II

@) ALBICH, DIV
AL B-I, C-IV, D-1

Ligases is a class of enzymes responsible for
catalysing the linking together of two compounds.
Which of the following bonds is not catalysed by

it ?
‘(po

()
©) C=N

(G=(C
C=0
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132 s
- T 28 E %@
. : nd
N @Wmﬁ R IC A ERe Tyt o @ 6w | 132 F. Skoog observed that gallus proliferated from ¢ /3@
20U ST Y St ¥ : internodal segments of tobacco stem when ag,;
%q'[ S qs W NN ey faarert T ® 9 o was supplied with one of the following except : Pes
3t d v ¥ herd . 6-
NERIES ! R TRTHF PR ? = 1) Extract of Vascular tissues 13 -
1) e sawi w1 wd ) Coconut milk g'{
@ fewgy oy Abscisic acid b
R) watafgs o @ Yeast Extract ~
34
4
@ ARwS 133. Givenbeloware some statements about plant growi »
regulators.
133. W%W%Wﬁﬁwwﬁr&@%: g o % a
A Tt GA e S A, AllGAsare acidic in nature. G
5 9§‘a |
B < B B. Auxins are antagonists to GAs. )( ¢
- S, GA eh |
c SR 9 3 i C.  Zeatinwas jsolated from coconut milk. (
> Gl Uch RN
O it L ;qa A . ki ; D.  Ethyleneinduces flowering in Mango. 137. |
: , 3TH IR HE =
E it s N < E.  Abscisic acid induces parthenocarpy-
2 SIEEED oA 3cd— hIdl
Choose the correct set of statements from the options
N given bel
ven below !
TR b o @~ AED @ BE <
M ACD @ BE , 2
® ABC @ BDE > @) NPBC @ BDE
134, S BRIy (g Feer) & wr F 134." Identify the incorrect statement related to, gel
FYAIAT S 7 ] =\ electrophoresis. - 138.
@ AT TS H A e h N Separated DNA fragments can be directly
¥ Fald 3@ THd 1.3 seen under UV radiation. 2
O TmRETIEE R g ~] (@ Separated DNA can be extracted from gel
o T WA B * piece. gacked. Iyl
3
0 AT H TS TR T § @) PrappentiCpimpves toward arode.
4 TR et ) Sievin
R @H‘W T LY GO seParahgozfcffe 1§§\10f fenrose gel helpsin »
ST B & WERm e B | A fragments. \
135. frafafea § 9 . . 135. Which of th ;
i ; ﬁ;@—amﬁ, el Srenvewfed | monoci‘-lip_liarir flor}}fwln_g examples show =
B. ﬁ’F{ {::13 A. Sesba . ‘/
C sy O 3 B Brinjal
D. i == C . g ‘5
E o USLE ¢ 8 Indigofera V" 1;,
3 , E  Asp D.  Tobacco |
e T forse 9 ﬁ T aragus l
1 S ) Choose the co
BSRE @ wEwC s a‘“-l ow : rrect answer: from the \ en '
()  FA,BRD , D 3RE ) 1€ options gt
@)  FeEASiRC Ba“dEomy
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136.

Section - B (BIOLOGY : BOTANY)

Given below are two statements :

lSmlcmcn( I:In the lac operon, the z gene codes for
f)ota—gnla(‘l()sldz\so which is primarily responsible
or the hydrolysis of lactose into galactose and
glucose. '
Statement 11 : In addition to lactose, glucose or
galactose can also induce lac operon.

In the light of the above statements, choose the correct
answer from the options given below :

)
@
®)
@

Statement I is true but Statement 11 is false
Statement I is false but Statement Il is true
Both Statement I and Statement I1 are true
Both Statement I and Statement Il are false

137.  The part marked as‘x’ in the given figure is :

\(2)/ Thalamus

(4)  Mesocarp

M
@)

Given below are two statements :

Statement I : In a dicotyledonous leaf, the adaxial
epidermis generally bears more stomata than the
abaxial epidermis. X .
Statement I1 : In a dicotyledonous leaf, the adaxially
placed palisade ‘parenchyma is made up of
elongated cells, which are arranged vertically and
parallel to each other.

In the light of the above statements, choose the correct
answer from the options given below :

Endosperm
Endocarp

138.

(1)  Statement I is true but Statement IL is false
Statement I is false but Statement I is true

(3)  Both Statement I and Statement Il are true
. (4)  Both Statement 1 and Statement Il are false
39¢ Which of the followjng are not fatty acids ?
%=': A. Glutamjc:éing B Arachidonic acid
® _ C PDalmiicacdd - D. Lecithin¥”

E.  Asparticacidv

Choose the correct answer from the options given
below :
(1) C,DandEonly

A and B only
B and C only

@
@)

(1) YT T § R HIF I EA
@) WA TR HITN AR
() HUTI IR HIA A T E
@) HITIIR GBI 3TE &
139, frefafed # 9 wiF a6 o T 2

A TRfEmIT B SR@ISIHEm e
C  uifafeen o= D. fafE
E  wenidas e
A1 fe 2 fersredl & @ Wl ST AT :
(1) FIAC,DIRE (2) HadAS3IRB

3 ®IAADIRE (4) FIABARC

—
\(3)’{ A, D and E only
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141. Yo dwewe F m fafafed . 1. Which b A photosynthesstDPH
? hlorOP N
TR ¥ forafa gt s 8Tl c @
NADPH 1) @) ATP
(1) ADP @ I
TP o2
@ O o 8 Jecule can_be create¢
NA molecu
a2, e S g o W ORI | 1 Recombinant DR oF DNA and sourc
E norm
S fés, Tl DNA respectively with - Hind IT, AluT
0 TEwRst @ = = Hind I, HindII () ind II’ BamH 1
@ FRensmewr (@ Rl SmETEI @) HindILEcoRI (9 HindIL
S, "ERENER ST SR i @" 143. Which one of the following is not a limitation of
F'TT-“ qﬁ % ? ecolo Ga'l amlds ?
1 wRfef ﬁtﬁqgﬁr'g\'cﬂvﬁﬁ@ CAaH] W 1) g;ap’g(;hytes are not given any Plai‘ﬁ’?
& fean m %d\\ ~ecological pyramids. -~ A\
AR STER a1 T &S gafﬁ'{ (2}\ 7" It assumes a simple food chain, t{@‘ﬂmost
2 IS m & 2t ==l \\« never exists in nature. 3‘*
A : \\y It accommodates a food welx:x“
(3) a8 ﬁm ST 1 FHE T \ (4)  Itdoesnottakeinto accogr‘}tkthe same species
*‘U" 1 sifer Wt TR W Horfed S Gﬂﬂ* W belonging to two or mmg"t];ophic levels.
X v
VO oI T et |

\}@rﬁvm ﬁﬁammﬁwﬁmmm%

\*'aﬁ%@mp

Q/\”’ (1) TS T a7d H fog @ \}
@) Y TG T B FL

(@)  3HE T o H & )
(4) 9% IR % 79 %1 pH Seeo o
145. W—Iaﬁiﬁﬁ—ll@ﬂﬁﬁﬂaﬁﬁq ' ”;’E
W W‘II 5%}# y
it ITUT T YHT
A Feitilze L st "
B SRFRIRR L wshst
C VI Hee R S
b IV. e wve siv

ot ey % sty

144.

145,

Bt cotton kills the pest
\ﬂf)/’ creating pore%t the midgut.

respiratory system.
()  degenerating the nervous system.
(4)  altering the pH of body flulds,
Match List-I with List-IT :
List-X N ¢
Organisms . Mo eof
~ Nutrition
;\- EDuglenmd "L Parasitic .
. inoflagell: T 3 AR T
C  Slime :Em?ite m brophytic
D Plasmodlum v IV PhOtosynﬂ\eth
: ; . SW]_ h T ‘between
photosymhetlc and

The Bt toxin in

geqatlcally engineered
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S hetemhophlc mode
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148, m@ﬁﬂﬁﬁémm%q‘}éﬁwﬁm
FI1 &l § 99 7% Fefafaa gafa sa= o
(2), T ST aTet T Y SR
(b FAER o o o |

S W F SHAIRIZY I TeeY |
(1) TRr - (@ TRR
() TIRR @ TIRr P

149. -1 1 gEi-11 & GAfd Hifer :
-1 K

A Safafeaya g we L

B. Saad I

C <erget
D. feRef fei =1
SHHO]

H fordy 119 Farepedl H @ W@ SR I
(1) A-IV,B1,CI,D-II

(2 AJLBIN,CIV,DI

() AJBIV,CII DI

@  A-m, B CIDIV

146,

147.

148.

149.

(@ !
Wl:nCh of the following graphs depicts the effect of
substrate concentr;

i ation on velocity of enzyme
catalysed reaction ?

vy’

Velocity of

Substrate >

(o
\ Substrate
concentration (S)

concentration (S)

3
2
>

®)

Velocity of

o

=
Velocity of
reaction (V)

Substrate >

) § Substrate
concentration (S)

concentration (S)
When will the population density increase, under
special conditions ?

When the number of :

(1)  deaths exceeds number of births and also
number of emigrants equals number of
immigrants.

(2)  births plus number of immigrants equals
number of deaths plus number of emigrants.

(3)  births plus number of emigrants is more than
the mumber of deaths plus number of
immigrants.

(4)~; births plus number of immigrants is more
than the sum of number of deaths and number
of emigrants.

When a tall pea plant with round seeds was selfed,
it produced the progeny of :

(a) tall plants with round seeds and

(b) tall plants with wrinkled seeds.

Identify the genotype of the parent plant.

(1) TRr 2 TIRR
) TIRR 4 TIRr
Match List-I with List-IL:
List-I List-II
A. Biodiversity Khasi and Jantia hills
hotspot in Meghalaya.
B. Sacred grov: World Summit on
Sustainable
Development 2002
C. Johannesburg, 1 Parthenium
South Africa
D. Alienspecies V. Western Ghats
invasion
Choose the correct answer from the options given
below :
A-IV, B, C-II, D-II

(2) A-IL A B—]]I; C‘IVI D1
3) AL BV, CIL, D-II
@ ALBIL CIL, DIV

i N




N

-1

M@Iﬁ;\ghf& \

50,
?ﬁ%mﬁ? = w4 - he given FgUTE: 1deqy the differentstage,
| fofist aroreensit w e | 150. Observe ™ bets by selecting the correctoption
W'{]ﬁwﬁﬁq labeued with alpha by e ion |
Atmosphere i bijk'ﬁ'c:i};"-t (,%2 + HyO ‘\
}bl:‘l;‘lllosuhl,s-ﬁ 4('024“20 Ephesp 'b’m\g: o] \
bisphosphate B
/\()i / 5 A\ /\D\l’/ o \
i W \ e 1 e
o o ATP
[-:i B :.;/;l,\{wu pE—
ﬂg;lsém/ \ MB" 0 (el { Pi+N;DP+
P;+NADP*
Sucrose, starch 17 A Carbox;llc;:;;:”ﬁ-l{egeneraﬁon
1) A-FEEER, B SceH, C-3TTed T ® C:Reduction ' ’
@ AT, BT, C-g1: 3 @ A-Reduction, B-Decarboxylation, \
@)  A-SEiEEeRT, B- 31T, C-gA: SR C-Regeneration
@) AT, B-preTeRAeRH, C-J: SR A-Carboxylation, B-Reduction,
C-Regeneration
ST - A (SR TR ) @  A-Reduction, B-Carboxylation,
C-Regeneration
151. G -1 ST 9 .
Eﬂ*&?} %ﬁﬁﬁ ol Section.- A (BIOLOGY : ZOOLOGY)
N -1 |-151. MatchList-T with List-II:
R L g List-I List-I1
B, wAUeRA 1L WEERX A" Predator L - - Ophrys
c  uelfm L AR @ SR ‘(3;- Mutualism 1L Pisaster
D. WFEmER V. , - Is):;?;l;lsm. {IVI. * Female wasp and fig
ot Ferenedl A W@ SR 1 = B i deceit B e i
(1) AJIBI,CLDIV oose the correct ;
@  AIV,BLCI DI below : ect answer from the options given
() ALBILCL DIV (1) | A-ILBILCY, DAV
@  AILBILCIV,DI g ATV, BLCILDN
i, m,C-I,D.
152. R - g:ﬁﬂ - 11 % g hfem & - . @~ AJ,BI, C—IV,DI‘.]I
-1 i 2. Match List-I with Li
ity feafir g; ; gL o 5
A m o 3:;';[ ' m Sy | el ocatiOn Of . st-n
%aﬁa?m ween 1 fodt Wi —— {:»mtbemej,?m* . "(l;)l'l_rzleof]oint
B. | - umerus and ¢ ing joint
EER S ih ML kel Gy b il (C B L
D. el & sty @; and axis een atl . Hingejoi ketjoint
o ol A ?ﬁﬁ 3_;:’ RIS S D Joint between\7 g joint
. ()  AJILBINLCIV,D W Y ; Ch carpals V. Pivotjoint
\ (@' AJILBILC I = 00se the corpec
T @ ,B-I1L,CL DIy DSew : t answer fr
N (4; 2‘11 B-IV, I, D1y AJL B om the options given
\ ‘ -IL, B-J, C-II, D-1v 83 A—Ili, Ig,g-IV, DI
\ ATy o vV
@ V,C
AL, B oL DT
»CIL, Dy

45%
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p.  fwa Sia oy wemstia w5 Sifeme # was
¥ s Toul w1 fmfor sear ¥ Ry R
FIe I B IR ¥

g RRE § faw W fafer g sha fom
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(1) E-C->B—>A->D

@ B>C->A—-E—->D

@ A—-E->B-D-C

@ B—-E->C—-5A-D

54, G- 1R I - 11 5 e afed o -
gt -1 el - 11

A SH®N L T HE H fEer
B ERm L S e § Saned
[EEKE Rt
C  AYER L. S o e % S
D, SHemgfep IV, Sl SRS sTeftel
Sl e —

i foremedl B & W SR o B«
() _AILBI,CLDIV T
(2) ANV, B-TI, C-IIL, D-I N/ ]
@~ A, B-I, C-II, D-IV v
(4 A-IB-ILCIV,DI _.y

1 o 3 o T e ¥ B W foremr e quid

fore 4 e e A G € 2 ABRR-

E i D o ARl N

A Rh+ .‘,,“‘H

758 forea 4 4l S R

) FmpwE (@ TP
$sATB (@ FECHD
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153,

<

154.

155.

156.

C1
E i i
ollowing are the steps'mvolyed in action of toxin

in Bt. Cotton,

A. The inactive toxin converted into active form
due to alkaline pH of gut of insect. - .

B. Bacillus thuringiensis produce crystals with

) toxic insecticidal proteins. \~

G :I:he alkaline pH solubilises the crystalse”

D. 1 he activated toxin binds to the surface of
midgut cells, creates pores and causes death

. of the insect. '

} he toxin proteins exist as inactive protoxins
inbacteria. "

C.hoosc the correct sequence of steps from the options
given below :

1) E->C-B—>A-D
@2 Bo>C—-H>A-E-D
B A—-E—-B-D-C

W BoSE-S>C—5A-D
Match List-I with List-11:

List-1 List-II
A.  Genepool L Stable within a
generation
B. Geneti¢ ,+ “IL- . Changein gene
drift frequency by chance,
C.  Geneflow 10  Transfer of genesintoor
outof population
D. .\ Gene IV.  Total number of genes
frequency and their alleles

Choose the correct answer from the options given
below :

1)  AJILBI,CLDIV
w2l AIV,BI,CIIL, D1
@) ALBI,CIILDIV
@  AILBILCIV,DI

Which evolutionary phenomenonis depicted by the _
sketch given in figure ?

( o
) Artificial selection
(2) Genetic drift
(3)  Convergent evolution
¢4')/ Adaptive radiation :
i o ive the
A person with blood group 2 Rh~ canrecetve t
blgod transfusion from which of the following
? - —
ZP?-S BRh™ B. ABRh .
o opn-W . DSBS
ARh* . :
léhoose the correct answer from the options given
below : N
)i Donly
1) D and E only )
23) A and B only @ can y
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v AHIndi+E, l'“ )
?l \ 09ish ngﬂ
Txh féh‘qm; 3 ol- <<> 54 s that € catalyse | the I é\) of groups frq 161' aF
ggﬁ =0 e Q s faf | 157 Erfyuat by mechanis  than hydrolye, A
A e ¥ i faiell A T T“ j g double e bonds, are known as: s @
m ame« o ransferases Oxidoreductases
® - 0 sErERERS @ De ydrogenases Y 1Y @
@ﬂ@ﬁﬁﬁa @ ISl 15§ —Match List-1 with List-TL
58. WE-1w List-1 List-IT 4
'@ 11 % W gafad U : Event Stage of Prophase-1 ©
‘{@ 1 geh -1 (Meiosis-I)
Chiasmata f ) Pachytene ¢
formation . '
A, Crossing oV I8 Diakinesis
5 mﬁ'ﬂfﬂ Gynaptonem L Diplotene P
. o SR complex formahg% 162-
Cc feofmesms I B Termmahsatmn&f . Zygotene |
Freion chiasmata
D. m@am V. gEE %oose the correct answer from the options given
ELIGIC R ow :
ﬁﬂm@ﬁﬂaﬁmmmmﬁ: i_gl;lccgg_lg
() AMBLONVDC G ALBLCIDIV
@ ALBLCILDIY : @ AT Bm, CIV, D
@) AILBLCIDIV AN\ ’ ’
@ AL B-IL, G-IV, DL - \f’* » atch List-I w1 L{st-ll
AN\ T % List-I1
159 gﬁ I@@. 1I % ai_‘a : Prim: Qc/ture L Human
gt -1 \\ \ et - 11 ===:___‘ OfP c/l haemoglobin
B. UM o L SEACHES . A rotein R ‘}‘
. Y Z ernary structure I
C. M 5 II. Pol R
3 ‘% g I ’41?\*1‘2133 \ﬁ of protein E ypephdg\‘q.am
3 Quaternary
g V. Alph
A D F SR AT IV s @ structure of protein shp &hy‘lk and §
O e oose the co . ‘
Q}\ fopet forehedl 4 W SR 1 9 R B \\">\/ below : e fr \’*‘ options given
() AILBIV,CI,DI R’ AL BV, C- ;\O
@ AILBILCLDAV () AILBICY IQ)
() ALBILCI,DIV ()  ALBILCILDIV
j 4) ;
4  AIV,BILCI,DI @ AIV,BINCI, DI
160. M
160. - 2;(&@ -1 % Ty e o : ~ amh:‘:::'ll with List-IT :
-1 e % RS g
A e el - %"‘«l‘; ~ Epinephrine I _LlSt-lI
L aAfq wm e Thy1'0xi_ne
B  gRREEM i VO e
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o T - 1 Rt - 11 % e e 1
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A HigEES L - (ORI
B UEEARM I HRIFST
c  sifeiw mo e
p. wEfEEl V. R . -
o Prredl § YR SRAF TR 2
1) A-LBIV,CI,D-II
@ ALBIILCI, DIV
(@) \AT,BIICJ, DIV
@ A-L,BIL, G-I, D-IV
it TR A FR AL 70 QT HRRYTA B T
TWHTIR T |

AR A ; ST T 3 SR S e <ieed
fe g 21 s
FRUT R : T 95 ¥ Hed ¥ 0@ T R AL T
T G 1 e 3 e SR e &, o

FfeTo] Thfer 21 STl @ | —t
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Whi =

hi 5 ;

the lCh (:f ‘fh.( [()“,OW'”G statements is correct about
YPe ol junction and their role in our body ?

161,

1 SR it
(1) {\dh( ring junctions facilitate the cells to
communicate with cach other. ¥
2y 1 lgh‘tjunctious help to stop substances from
leaking across a tissue. N
®3) 'I'ightjul.wcti()ns help to perform cementing to
keep neighbouring cells together.
4 o T
(4)  Gapjunctions help to create gap between the

cells and tissues.

162. Solcc} the restriction endonuclease enzymes whose
restriction sites are present for the acycline
resistance (tet®) gene in the pBR322 cloning vector.

W~ BamHIandSall (2) Salland Pstl
@) PstlandPvul (4) Pvuland Bam HI
163. Match List-I with List-II.
List-I List-II
A.  Chondrichthyes, L Clarias
B. Cyclostomata \11 Carcharodon
C.  Osteichthyes M. Myxineg -
D. _Amphibia IV.  Ichthyophis
Choosé the correct answer from the options given
below :
(1)  AJILBIV,CGL DI
(@  A-LBILCIDIV
&7 AILBILCLDIV
@) AJLBILCILDIV
164. Given below are twostatements : One is labelled as

Assertion A and the other is labelled as ReasonR.
Assertion A : During menstrual cycle, the ovulation
takes place approximately on 14t day..

Reason R : Rapid secretion of LH in the middle of

menstrual cycle indﬁ_c_?_s_rﬂp—tluf/gf‘gggfi@’ follicle
and thereby the release of gvum,

In the light of the above statements, choose the most

appropriate answer from the options given below
(1) Ais correct but R is not correct.
(@ Al not correct but Ris correct.
Both A and Rare correctand R is’the correct
Janation of A.
@ :)}:h A and R are correct but R is NOT the
correct explanation of A.
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(1) A, BIV,C-ILDI

(@  AJILBI,CIV,DI

®)  AJIV,BIILCI, DI
@)  AIV,BI,CIIL DI
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TEREHE ! §
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(1) . ~A-IV, B, C-IIL, DI

(2). AL, B-II, G-IV, D-II

@) AJLBLCIILDIV

@  A-LBIV,CI DI
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TR -1
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vt FAfE SR ST TSl
B. e wgal ¥ e o
FeRfee % g @ 3 fagw & g
C. @cr7g  srquredfa o
Do STa feraon
W o F e
D. dreier st ure fed: Heifvm
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(1)  ALBIV,CII DI
@)  AIV,BLCIL DI
() AIBLCIDIV
4 AJBIV,CILDI
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A
B L
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C. I
D

166.

A L

B.
C
D.

167.
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& el

I hEhH
e TER HE

G, el

G, Yo
Go el
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V. Sierrsnfa wet

[Fingiie, '
" 165 atch List- with List-II with respectto convey,,
' evoluﬁo_ﬂ; ; List-1I
llismm' L Flying Phalzm;»(,.[
A. beat 1. Numbat B
> i‘;t eate/r SN[ Spottedcuscu
(6 . v Tas i
; rels IV manian
p. Flymg i tiger cat
= Choose the correct answer from the options give,
W -
(";‘ﬁ’« 0, BIV, G-I, D
@ AmBLCIVDS
ey (3) A-IV, B-11I, c-I, D-1
=l AV B-IL C-1IL, DI
\." List-I with List-11.
166. Match Listd List-11
A Cellsare metabolically L G, phase
active and proliferate
B DNAreplicationta IL G, Phase
place
C Proteinsare synthesised G phase
D.  Quiescentstagewith S phase
metabolically active cells
¢ Choosethe correct answer from the options given§
. ¢ below:
L@ AIVBILCILDI
U@ ALBILCIV,DI
@) ALBIL C11,D-IV
o A-II, B-IV, C-1, D-IIT
~
167.© Match List-I with List-II :
i List-I List-11
A.  Migratory flamingoes- 1 Interference
and resident fish in competition
South American lakes
B.  Abingdon tortoise o I. Competitive
became extinct after release
mh-.oductlon of goats in
their habitat
C gshlgﬁarr}alus expands I Resource
P th l;‘:;buhonal range i Partitioning
M F'e absence of Balanus
W “Wveclosely related IV. Interspecific
% Species of Warble ' ition
: feediﬁg in differ i competitio
X v locations on Samettree
Choose :

W

A, B—IV , C-III, D-I[‘

-0 .

thg correct answer from the options give"
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“A-IL,B-IV, C-III, D-I

?;@

g -1

F, %9

o=

e

kS
AIIB-ICIV,}I;:HI

ANB-Ié‘tr‘l}m
AV, BY, C-IIL DI

Ax&ﬁlcmn

gt -1

e e
Sl
sifyy <
Sl

s Frrdieres T8
2 e
L

AV, B-III, C-I, D-II
AL B-I, C-II, DIV

g ot - 1 3 G - 11 & W afed

f, e

Firer formel 9 W STUH o Y

ﬁmqa%maﬁxm@
g - 11 % W At B :

IL

IIL
V.

@\"
{D
Heere 375"‘L

qaqq'iﬁzg\)

ﬁvﬂﬂﬂ?ﬂ

AV
JQ%-H 168, Match List.1 with List-11 r

their products -
List-I
(Microbes)

A. Streptococcus < L

B. Trichoderma %11,
polysporum

€. Monascus I
purpureus

D. Aspergillus niger

"\
o)
O
) «\:\)
R\
NN

~\
O

v.

ola:ng to microbes and

List-II
(Products)

Citric acid
Clot buster

Cyclosporin A

Statins
Choose the correct answer from the options given

below :
AL, B-III, C-IV, D-1
(@  ALBI,CILDIV
()  ALBILCI,DIV
@  A-LBIV,CI, DI
169. Match List-I with List-II.
List-I List-1I
A.  F, Particles i L Chromosomes
B.  Histones / I Cilia
C.  Axone m III. Golgi appar:
D. Cis e V. ; .
Choose ect answer from the opti
below A\ A ¥
&}\t\ -IL, B, C-IV, DI
A-1V,B-],C1I, D-IT
(3) A-IV, B-I, C-TI, D-IT
R’ A (4) A-IV, B-III, C-1, D-I \%
N\ y
170. Match List-I with List-II h@%exampl&s of
various kind of IUDs and ba%
List-I @ List-II
A Copperreleasing 1~ Vaults
UD
B.  Non-medica Multiload 375
IUD ©
C.  Contracepti LNG-20
barrier
D. Hormone Lippes loop
releasing IUD
Choose the correct answer from the options given
below :
) AL B-IV, C-II, D-I
@ AL B-1I1, G-I, D-IT
) A-II B-I, C-1II, D-IV
A A-IL BV, C-L D-III
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B
2} m@:}‘j 3
BEEEITY :
B[ F3) Yewrsirat 38
11 R EQ
= m"ﬁ“&ﬁ ] e 3 . 71, Givenb
W o % Gh elow
I i S are
ST WE EEE| tatem two
£ TR stement: At N\
em e al icobes th T\hbiOﬁ ents/ English|
% Qg::[sﬁ—qﬁ atkill cs |
W Th Y State L oth arechemi
Eakcpr] = bod ment I1: A her “-‘iCrObLm‘Cals 47"
® U e ™ fararedi y t}"atelir;‘- ntibodi LIpbes. \/Pl'oduCed
@YU : @' Wﬁ. In the f inate mi Qs are by
(2) e I Hﬁ %’ am . aPpro};%?t of the ab icrobes $m1C?]S s
I TTerd atean ove st ' rmed i
® Ww 4 o - e &1 - i e sttt choo
@ o 1 T AT 1w T incorrect t 1 is cor o ose the mo
172 w1 @ n wd € £ -(2) Statem ' rect but St agtx ven belo\;t
- WA A c ent L is i eme :
T 11 TTerd . == orrect. is inc at 11
W,—,qaug:; fore i ¢ e BohS orrect but S "
A a”rﬂ 313[ g’H ﬁ-@;rgq - ’ 7 (4) Both tatementl an tatement 11 i
- Wﬂ:ﬁ:ﬁ : ¥ - 3 State d State is
C & incorrect ment I a ment II
. P B. 172. A : nd Sta are correc
CARERl 3 rra te t
E. aﬁ%ﬁ r\ge the f ment .
= T et p. gl gland, travers‘.)now'mg IT are
ot o A M EnglE € parts in b }
e amm out um
@ TE TH C ary d e of milk an M
@ DB 1 7 H g Mamma uct. B ejectiOnam’mf"lfy
(3) (C: SE->B— : —B : C Mammaz alveolus D Lacﬁf@ro;l
(4) >E—-A- -D hoose the tubule : AmPun s duct
173. ﬁ":‘ﬁaﬁq SE-{DMB . SRR
- m th /
A & EcoR1 % foa c oY Y e options gi
o ) —=E —->B given
T & 3B
> anﬁwmﬁéﬁmqaﬂm A—->E_>A—)D_.)D
8 @Wmﬁjﬁﬁwm%' 1H5etWh ARt
bl heid st " gl
E. TR T ELE ?) B. ut the D gare cor
mm Td T 99 wuH Cut NA with rect abo
= ¥ gl e IR C the DN bluntend uLE_CB_lg,.
forret # 9 Re Awi end ?
ﬁ' '@ hiedl D Cognis ltl'l sti
(1) 'FE"T % $ es . Cky
¥R S I P— aspecific end
(3) W 4 C/ E m 5 E encoun Abetw 'pahndrom-
174 ) ,C,D FIe XON e DNA e base ence-
. = ﬁ @ ﬁ:‘ (4) A,D,E Choose th uclease sequen C’;aI\d Awh
A AN — E"w?%‘”' A S GAATIC.
saﬂﬁh‘ . : ,C,D ' N .
G W g B g‘%«gl) B,C swer from th
. W B /@% %) Bk A ,E only ¢ options .
T2 D; E Whi y A
o T q e I Coclg\ of th @’ B'D’EOnly e
1) e ¥ w3 ol -"-@-h?e following is ,C, D only
(3) B ‘qq' D w T % : ] Conateral / are pr chent .
T A @ 1 : ﬂ‘E ) spermath::land 3 in female
@) BWE g b e ; D Mushr
W o] 00se gland . oom 1
AT option the m Anal gland
¢ o ost a style
) P DAL ppropri
k W . at
(3) il dD ¥ € ans
4 A 3 or‘l wer
0 S y y (2) fl‘om the
‘ B and E onl
k Eand.C : ﬁ
4 only ' |
l
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21 ) gE - 11 % W1 yaAfad s .
gl -1 - &
A EIER L 379 &l T= G
B WU il IL  TsH =
¢ wud@a mo ferefew -
D odEORA V. Ol I
o fearel B QT SR T R
1) AJLBIV,CILDI
o) AV, B, C-II, DI
@ AL B-IV,C-I, D-II
@ AILBLCIV,DI
176. Wmﬁmﬁmm%?
@ e 30 dTe
@ @R, e, G
@ g, aEde, g
@) e, T Tl

177. Frergarst el §, o o PR SHicier a1 See

% g S T & 2
A SUfRRY
D.

B.
TR s

T E

=1 faehedl © Q @ad 3ferd 3T 1 =97 ¢

(1), ¥a@B,C,DTE
@
@)

@

FaAA,B,C TG E
%9d B,C T8 D
FTA A, CT@ D

78, T vl & i 1 Tera Aferd ¥ 2

(1) e wd endidre - fguwd gafafa
() T - R

(@) foee T AR~ oRa W
@) wRfeHe - TR WST

qY C. TS

e

)

——__:_
PN
F‘:

ol

ARy,

175,

176.

177.

178.

i

W Anopiles, leSux/'z Limulus \V/ (Q?’)A

Match List-J With List-] -

List-
. St-1 List-11
- Malignant g mors 1. Destroy tumors
B. MALT ~ I AIDS
C. ~
NALO)\IH_ .. Metastasis
D. :
o-Interferons IV. Lymphoid tissue
Ch
belz(‘:]st:e the correct answer from the options given
\a)/ A-II, B-1IV, C1, DI
(® A1V, B, CH, DI
() AL B-IV,CI, DI
(4 AJIL,B-L,CIV,DAI

Open Clrculatory system s presentin:
Ayweldola
(1) _ Palaemon, I\ngas Balanoglossus

Hirudinaria, Boml_yy@ el °‘°~“ S

(4)  PhereMfina, Museg, Pila

In which of the following connective tissues, the
cells secrete fibres of collagen or elastin?
C. Adipose tissue

A.  Cartilage :
D. - Blood¥) \ b

Choose the most appropriate answer from the
options given below :

B. Bone

E. Areolar tissue

1 BCD and E only
(,2)/, A, B, Cand E only
(3) B, CandDonly
@ A CandD only

Which of the following pairs is an incorrect

match ?

1) Annelids and arﬁhropods - Bilateral
symmetry

® Sponges-Acoelomates ) e

€) Coelenterates and Ctenophores -

B stic organisation

% thes-DiPlobla
Platyhelmin >

V'
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179
. w 40 . 2
“IH Match List-1 with List-112 Cirs
W-II%WQW 1 179. " List ‘
W -1 [,'15 ) I Maximum, volume of_alr
A %TQ -1 A. ReSldua] d that can be breathed in
MIECEINE Wﬁ;yﬁ'ﬂ"#ﬁﬁ:ﬁfﬂ Volume 7T after forced expiration
1 e Sifuehad AT ) . Volume of air inspired or
: ? Vital Capagity A i
B 3iq vanfea & gdl B. expired dur.mg normal
Sy g v & respiration N
sidvarfid Ll C.  Expiratory M. Volume of air frem.zli)l]nm?;
. T ST ’ ; in lungs after forcible
C M ewa m i verer % S Capaclty expiration = .
el 7 9 e T Y D. Tidal Volume IV. Total volume f)f ar e’il;’é.‘:
1 STRATT ; after normal inspiratic
D. o stRRe V. W S = Choose the correct answer from the options given
ﬁ:w@;ﬁmﬂﬂﬁﬂ S below :
T forapedl @ e ST T P (1)  AIV,BIILCI, DI
(1)  AJV,B-ILCIL DI (@)  A-LBIV,CL DI
(@ AILBIV,C] DI A-III, B-I, G-IV, D-II
() ATILBLCIV,D-I @)  AJLBILCII DIV
4)  AJLBILCIL DIV
@ 1 : 180. Match List-I with List-II:
180. et - 1 3 e - 11 35 Wy Faferd F - List-I List-IT
e -1 g gs A.  Living Fossil L Elotrl\lgated canine
A Sifad stered L A tee
B. VAR n  FeEd@fE | B ConnectinglLink _IL Vermif;rm
C. eyeRnt e DT N i " NN app-en ix
PEEK Ve afERar @ VesﬁgialQr n 1L Echldna'
;wﬁwﬁﬁﬁvﬁmmwam: D.  Atavism IV.  Latimena
(1) AIV,BILGIH, 15_1 Choose the correct answer from the options given
e Ve belqw:A IV, B-IIL, C-II, D-I
@)  AIV,BI,CIL DI O -IV, B-II, C-II, D-
@  A-ILBIV,CILDI ) A-IV,B-I,C-III, DI
181 GEit-1 I Gl - 11 3 WY Gafer 7 : s i i s
i1 a1 @)  AJI,BIV,CID-I
A @R L GIECaRSECITl 181. Match List-I with List-II:
B ffesda 1 wiawaege Ligtl Jaet-11
C fgﬂgﬁ-q I R Wﬂl A. Schwann cells ~TK%" Neurotransmitter
GlECTINE t-._ B Synaptic knob!z7ll.  Cerebral,cortex
D. wgyd - C.  Bipolar neurg . Myelinsheath
. < . gﬁq e A \\l D. Multipolar Retina
LiECEEn P
is B neurons
fifﬂi forhedi % 4wt <o 351 o En = Choose the correct answer from the options given
((2)) 2’}]%- B]iI], CIV,D-l - 3 below :
LBV, Ca -
(B AL, B-]]]CgilD{)H{ e @  ATLB, CIV,D-I
@  AILBILCI Dy g @  A-LBIV,CII,D-I
’ N (3) A'IV, B—m 5 C-II, D_I
182. (37{?@%11) i Gﬁﬁmﬂmﬁﬁ;ﬁ%waﬁ 22 (4) AL BILCL DIV
ASEE NS TR ffrr | 182, Diuresis js prevented by:
@ TIAFACRFIETE V @ g:lflllé\refcl':;logf cells via switching off the
Gin ©) Wﬁﬁﬁ e % Q«@Rﬁq}-z;f‘ | N ’ y i%q’ ANF from atria of the heart
. w. | @  REEEEERTE % Eu iﬁ' : & Aldosterone from adrenal medulla

. Vasopressin from Neurohypophysis

A




PN 3
)

{ 4
\\ﬂj} qqaqaaﬁ:zﬁaﬁxﬁfr%l AQ 1 w1 T
| e AR

& |
Ay T T 83, Following ; \
ot g is the list of g1 ) |
N B rfe ufEd i m ot completely cunprs <
. e k :
C ﬁ]‘ﬁﬁﬁ’m D. Tshe el st C Sy:::l warts B. Genital herpes w
1S
g g E  Trichomon: D.  Hepatitis-B -
e 1 R W SR AT e L omoniass
= ‘ e ) (‘hlz%? the correct answer from th ; .
) FaAAT@D 2 BT D , oW m the options given
; s 1)  Aand
o FEATC @ 30 D T B . @ BandDonly
nd Conl
184 WW%(@@W)WW@ 184 W i B Pamvey
: . hat s th
%9 = 8?2 Paleomicee:gr?rect order (old to recent) of periods in
Q) R, fealfa, oo, CACRIEaS] (1)  Silurian, Devonian, Permian, Carbonif
’ ’ €rous
) ARG, e, R, T \2y”" Silurian, Devoni ! °
A y onian, Carboniferous, Permjan
| @) o, , WL, ()  Permian, Devonian, Silurian, Ca:bonifem\:?
@ TR, mﬁm,ﬁfﬁﬂ, feaifam (4)  Silurian, Carboniferous, Permian, Devonian
185, TR i ¥ RO et Y 185. ‘Lub’ sound of Heartis causedbythe .
) TR R & ¥ A (1)  closure of the semilunar valves
@ et T fgaert Eriicy qq-ﬁ ()  opening of tricuspid and bicuspid valves
@) SRR ST S G A (8) openingof thesemilunar valves
@ e v ferert R % o< Ll Dosmet ﬁi?&fd and bicuspid valves|.” &
my\/ \ ) .
ST - B (Sl : W ) Section - B(BI0LOGY :200L0GT a7
. "\ "3 $
186. @ﬁ#maﬂ{ﬁéa H‘a’ﬁ]’a. @-Iﬂﬁ-n;uw
w1y gAferd B ¢
Ve ! " ’g List-II
’:q‘%’. r @ -1 *ji i“‘;‘s Structur
P e D ROy ¥
O e A\ ons pubis eshy fold of tissue
: \\\ - U S MR 7 1 A sunour}:dmg{h( )
Qs vagina peni®
" B. Clitoris IL Fatty aushion of cells .
c by skinand hair
C.  Hymen m  Tinyfi - like structure
¥ above labia minora
D. Labia MV. A thin membrane;like
majora structure covering
» ' vagina] opening
B Y 3 ot N & .
: A ‘ Choose the correct answer from the options given
p ‘g; AILBINLCIV, D1 Wil A-IL B, CIv, DI
T @ ANBICE D1
@ ALBV.CI DAL
@ AL g, CL DIV
RS )
‘../’“,\ > A\
o o CA o &
"\\\ " ‘“; ;»\\
% '\}\ ) t\\\\ .\",J
N QA O
N O ’Q‘H‘& :
« W N o\ :
.\‘}g Y Q> .\t:: .
) v . i.::‘:‘ % \,l
N B (.J:V‘
®

N
%
RN N
N
S O
W W .\Q:.,“
\
,‘:*." N &.z
 { ) ? «\
v 2\
) 3 } 3
W

s
o\
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187, Ny
TSR % foreriy o 1 W
3 e w1 AWM
! Wﬁml W%Jﬂﬁlﬁ
A,
R B wweH
& faﬂ\T‘F{ - .
Tt foramcat o & e ofr e 1 T ¢
1) ¥wcwp (@ EDTE
B) FTWATEB @ HTBTC

188. A w AW :
O 1 el el S § R T T STRe
v geen # i
et 11 : 9T T T I A TF T I T
@mmq@dﬂﬂ%aﬁtmw(m@ﬂﬂ
2 Y & s wRo U e W AR T Y
Fafisra & ST §1
S few Ty ] 3 e 3 e e § 9§ Wl IR
1 HTA H .
1) e I T E A B 1T I B
Q) R 1HA ¢ Ao YT 1 T T
@) EwIA I I HATI TA T
@ . W HIT I IR FTI S T |

189. | TIeTd FHYA! B YGHT
A FReTERA Fa W TeeTEEeR SR

BRI ST Bre |
it it dgiem St weet £ |
o C TR o i s gl

G Temrel 50w B

D. ‘ S

E. ﬁﬁgﬂ@ﬂqﬁ!ﬁwmm%mm
& 3 H wEE Ay

Fren ol 4 2 ot S 9 7

() ¥EADWE () A

) FTICTIE )

T —

[pino=
190-

Hindi+English

where
of its

Y Aneuploidy is @ chromosomal disorder

chromosome number is not the exact COPY
haploid set of chromosomes, due to:

Addition

187.

Gubstitution B.

A.

Translocation

¢, Deletion D.

e Choose the most appropriate answer from the
. options given below :

L
®

Inversion

D and E only
B and C only

Cand D only 2

@

A and B only

Given below are two statements :

188.

Statement I: RNA interference takes place in all -
Eukaryotic organisms as method of cellular defense:

Statement II : RNAi involves the silencing of a
specific nRNA due to a_complementary single

stranded RNA molecyle that binds and prevents
. translation of mRNA 4

" Inthe light of the above statements, choose the correct
answer from theGptions given below.

.

Statement I is true but Statement IT is false.

‘Statement I is false but Statement Il is true.

Both Statement I and Statement Il are frue.

(4  Both StatementIand Statement Il.are false.
| Ddp Identify the wrong statements :
A, Erythropoietin_ . is".* produced by
juxtaglomerular cells of the kidney *»~ J

. B.  Leydigcells produce Androgens
s C. {‘\trial Natriuretic fac’gof, a peptide hormone
o is secreted by the seminiferous tubules of the
* testes \*’
x_::? D.  Cholecystokinin is produced by gastro -
S intestinal tract N
-

-l B Gastri i i i
= astrin acts on intestinal wall and helps in
~ the production of pepsinogen =2 3?(

Chr?ose t.he most appropriate answer from the
options given below : :
| '
, (1) ,DandEonly ¥ () AandBonly N
i i
7 CandEonly Aand Conly

@)
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190

o1 RATARAWL:

192,

43

Gt e it whwan & e oo em E
O e

. v (~1 faferr T

. fafswE ;

b, Taq el T Sreiait iRt % w

JITEAR
E TR

ﬁmﬁm@ﬁﬁﬁﬁﬁm%a@ﬁ%qﬁww
T -

1) C>A-»>D—-E—B
@ A-BIE-D-C
Q) A—>C—oE->D-B
@ DoBoE-S>C—A

e 1t e e foen fafts % R
faftfa 21 %1

ST 11 3o fraft we 3 SiaveTl # e
T ST T H e I e
W%ﬁﬂﬁmﬁ’f%&mﬁ%ﬂmﬁﬁwﬁ
oA SR FT =TI F

(1) YT G ¥ AfRT w11 T § |

@) WY e § Al wmY I T T

(3 <A WUTI @ wYT I W8 B

(4) iU ] T WY I o £ |

U 1 oot TG % $S HEh UG TR Y
ﬁm@%%mﬁﬁrﬁwm fag =1 dfusm
U sraet grn iR wae g 8 1 L
I 11 : Iga ¥ T o R At 2 vt Titesht
% 3 ¥ wUARE AR

ST Few T e 35 e et fersped @ wd ww |

FTFH] ;-

WY 1§ § G RAT 11 319 ¥
HUT 1 S § T B T 3|
T He | TE U 11 T |

Al o 1 e WU T S €|

199,

- 191.

192.

l*'nllo\.»\v'in;;v are (} .

PO, 4 ¢ steps involygthinghe process of

A, /\nnmiinpr v

B. Amplification (~1 billion times)

C. Denaturatjon \/

D, Treatment with Taq polymerase and
deoxynucleotides ’

L. Fixtension

Choose the correct sequence of steps of PCR from
the options given below :

CoA=-D-SESB

2 A-BoSESD-SC
B A->CoE-DSB
4 D-oB-oE-SCoA

Given below are two statements :

Statement I: Concentrated urine is formed due to
counter current mechanism in nephron. 7

Statement II : Counter current mechanism helps to
maintain osmotic gradient in the medullary
interstitium.

In the light of the aboye statements, choose the most
appropriate answer from the options given below.

@)

Stateiment I is correct but Statement II is

ineorrect.
(2)5.~ Statement I is incorrect but Statement ng;:;,f‘
. correct. 8
(3)  Both Statement I and Statement IT aretg*r;ect
(4) Both Statement I and State,gng.nt‘ 1 are
incorrect. ;»\5 /

Given below are two statemg;;ﬁsﬂ:'
Statement I : Concentrically arranged cisterna
Golgi complex are arranged near the nucleus ¥
distinct convex cis or maturing and concave
forming face. §
Statement I1: A number of pro odified m
the_cisternae of Gg_lgj'comp]@_(_\ ore they are
released from cis face. «

- —
In the light of the above statements, choose the correct
answer from the options given below.

Statement I is true but Statement I1 is false.

teins are modifiedin

1)
2) Statement 1 is false l})ut Statement 11 is true.
(3) Both Statement I and Gtatement Il are true.

Both Statement I and Statement Il are false.,

-

v’
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A, BV, CL DL
A1, BV, C-1I, DI
AL B, CIV, DI
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X® gl A
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O @ 3 ATRITAEARER, A B GRS

195. AT T R a1 A+, ﬁmmm@kﬁm &5,
Al % Hore SRRy = an ? Aﬁi]

A IMA|DBi|IBj - B IArA‘I»IBillAi 1
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194.

fiine

19¢€

Match List-1 with List-11: \“ ~

List-1 ~ }\\ st-11

Parturition L S\e\'éral antibodies for
& new - born pabies - -
B Placenta 1. Collection of ovum after

. ovulation
G Colostrum. 1L Foetal ejecﬁon reflex.
D. Fimbriae IV. Secretion of the
hormone hC!

Choose the corrcck answer from the options given
below :

Wf  AILBIV,CL, DI
@ AJLBIV,CI,DII
@) AJLBILCIV,DI
@ AJLBIV,CI,DI

Given below are two statements : Oneis labelled as
Assertion A and the other is labelled as Reason R.

Assertion A : Members of subphqum vertebrata
possess notochord dunn the embryo —The,

notdchord is regl§§ oy a cartilaginous Or b or bxmy__
vertebral column‘m headult.

Reason R : N\s all chordates are vertebrates bLt
notall ve(&ﬁirates are chordates.

In thehg'ﬁt of the above statements, choose the con'ect\
‘ngwer from the options given below.

\ .
M A is true but R is false. A
R
(2) Ais false but R is true. N
(3) Both A and R are true an({ﬁ';'s the correct
explanation of A. \i )
(4) Both AandRare tn;%&ﬁ R is NOT the correct
explanation of AX

The mother has A+ blood group, the father has
B+ and the child 1s_A"+ . What can be the possible

genotypes of all three, respectwely ?
— v

A. 1A1A|181|181 0 = IAIMIBi | 1A}
C. IBi|IAIA|IAIB D. IAA|IBIB|IAL
E I IR |18

Choose the correct answer from the options given
below : '

(1) CandD

(2 DandA
@) AandB @' BandE
N RN
. o’ Y%
\ o
O N
o s‘:\‘“} ‘{‘\3\”
) ’\ ~\ &
‘o) PN\
N N/
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What do ‘a’
0O 'a ¢ o . )
populati a and ‘b’ repycsdnt in the following
I Ion growth curve®

Population

Time (t) —>

\(—Y)/{’a’ represents exponential growth when
responses are not limiting the growth; and .
‘I represents logistic growth when responses
are limiting the growth. . —~ o
(2)  ‘a represents logistic growth when responses
are not limiting the growth; ‘b’ represents
exponential growth when responses are
limiting the growth.

‘a’ répresents carrying capacity and o
shows-logistic growth when responses are ;
limiting the growth. '

@)

‘a’ represents exponential growth when
responses are not limiting the growthand ‘v’
shows carrying capacity.

@)

Ao THEHT ARY H T T F G =LA g o¥a | 197- Select the correct s?atements regarding mechanism..
4 of muscle contraction. T
ST BT B € 1 Nl - ' !
: ; : ] A, It is initiated by-a signal sent by CNS via |
B. e Gar grkiern § foran fave Sco=t Tt | sensory neuron. E{'f‘ \
) —\ [ B.  Neurotransmitter generates action potential
C Ca*t ®RH 9fg § Ffeaam e a@aﬂ %"‘,Z in the sarcolemma.
° Al 9 T C ) C.  Increased Ca*t level leads to the. bindjng of W
b=t calcium with troponin on actin filaments.
D. m%mmwmwmﬁ§ T A
R S| D.  Masking of activesite foractinis acuvas:
s TP hydro
e Utilising the energy from
E.  TA W F - [ I Sl WG form cross et O s
R e A & e
Choose the most appropnate ans
ot ferehedi 9 rardt S ST 1 =19 R : options given below :
. 1 2 C,Dand Eonly” )
() ¥AB,CTWE () Ho@ACDTE .\M/B,CandEonly @ .
‘ fd* AandDonly'N @ B,DandE© 3’, /0
B FAATD (4 @) 8
Y q,9 “ lb?/@O /







